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FRAHT 88 99 101 200 | Fi1 AT 250 208 191 399 [#KHT— T H 367 298 222 520 | AT 278 295 321 616
FRYZHT 195 173 190 363 IHHP 12,481 11,342) 12,181 23,523|%kAT =T H 172 152 112 264 | B RIHAT 737 866 931 1,797
JERT 439 374 444 818 RIT =T H 123 135 144 279 KFHIX 3,822 4,278 4,455 8,733
BT 747 734 743 1, 477|8ENT 242 240 251 491 [HKATPY T H 62 37 42 79
& BHT 396 387 405 792 | BZHT 3,919| 3,833 3,916 7,749 NHRHEX 10,288 9,905 9,856| 19, 761|F/AHLHT 393 474 459 933
i T 248 214 211 425 |Fa T 185 182 214 396 ARERET 272 342 370 712
BNl 127 110 122 232 | EHTHT 452 433 432 865 | BT IR HT 1,275 1,468 1,444  2,912[3LRT—TH 476 464 492 956
KA 612 528 527 1, 055 |7 AHT 3,793 3, 806 3, 950 7, 756 | Hr A H H T 362 390 418 8084 ILIMT — T H 229 218 249 467
BT 13 8 10 18| HLRHT 3,736 3,704 3,789  7,493|HBHT 1,750 1,673 1,842 3,515[#R/NEHET 590 627 635 1,262
AT 105 84 105 189|:& ny 614 592 608 1,200|H @My 1,180 1,354 1,272]  2,626| L4 HT 1,650/ 1,880 2,024 3,904
T 221 210 219 429 | 5 MY 1,399 1,472 1,568 3,040 HrEREHiX 4,567 4,885 4,976 9,861 Fg/\iEHIX 3,610) 4,005 4,229 8,234
Acimmy 115 73 86 159 | KAfmy 153 143 160 303
JUTHEHT 179 189 218 407| H BT 339 400 438 838 | H-EFHT 3,045) 2,907 3,179 6, 086 | sy 449 451 491 942
T 134 104 91 195 ERET—T H 376 379 392 771 | KJUARRT 1,289 1,289 1,235 2,524 |ZEigHT 308 332 340 672
TAERT 68 61 59 120 R ERET Z T H 524 511 474 985 /1N \ARHT 1,334 1,422 1,454 2, 876|HHErHET 709 734 742 1,476
FEIEET— T H 148 147 140 287 | HHERIT=TH 528 529 550 1, 079 | IEMBLSFMT 486 553 570 1, 123 | BH HLET 242 300 302 602
TREHET =T H 116 127 122 249 [ EIRATIY T H 334 337 411 748 ([ EETE— T H 54 42 32 TA| T 1,212 1,320 1,380 2,700
FRIEET=TH 129 17 110 227|  BERHIX 16,594 16,561 17,153 33, 714|MZEME T H 126 106 101 207 | ErmT 781 908 923/ 1,831
TRIEHETI T H 143 143 155 298 [ I —T H 336 220 304 524 X 3,701 4,045 4,178 8,223
TRIEET T H 62 49 13 62| 5T 3,845 3,820 3,964 7, 784|[ERIT T H 30 25 26 51
Ry 431 400 440 840wl — T H 280 316 348 664|ME=IT="TH 58 24 45 69| i Br iy 5,880 6,123 6,278 12,401
P GRIT 22 18 15 33| AREET T H 579 573 633 1,206|M=ATNTH 129 126 107 233 | B JLHT 196 234 261 495
ELHT 175 163 188 35L[FEBT="TH 898 855 923 1, T78|IE/RHT 1,990 1,996 2,123 4,119 AEIFHX 6,076/ 6,357 6,539 12,896
et EaT 26 17 23 40| S5 AT 1,558 1,513 1,627 3,140 HJIHIX 8,877 8,710 9,176 17,886
BT T 186 145 174 319 T 1,449 1,369 1,481 2,850 RIRHT 403 399 440 839
EN/NU) 506 464 519 983 B2 A T 185 167 191 358 | @MY 468 395 549 944 |5 H BT 557 622 635 1,257
R T 24 16 20 36 [\ TARIT— T H 499 491 461 952 | Il T 2,389 2,296 2,303 4,599|k BT 664 767 731 1,498
& 63 52 58 LIO|/\F{RBT =T H 375 343 390 733| FRERT 244 292 306 598 | 74 5T 168 165 155 320
HEARHT 38 38 43 SLNTFARMT=TH 509 508 520 1, 0285k EiHT 973 924 935 1, 859|#KIFHT 657 732 763 1,495
FHHT 370 284 338 622\ )\ TFARATIY T H 399 406 460 866 | RN 557 621 640 1,261|%&EHT 380 390 373 763
= 154 142 158 300( e X 10,576 10,361 10,998| 21, 359|HTz=HT 376 382 429 811|C /44T 574 654 679 1,333
ST 630 552 612 1,164 N L 2,474) 2,678 2,761  5,439| T BHIX 3,403 3,729 3,776 17,505
R AART 26 31 24 55| E4& By 2,543 2,533 2,672  5,205|47 HHET 167 203 206 409
Eo L 486 462 507 969 | = BF FEMT 44 40 47 87|\ HIX 7,648 7,791 8,129 15,920| L-j&mT 288 352 372 724
HEHT 22 29 24 53| bR T 3,812| 3,760 3,748 17,508 TE A TFHT 172 207 217 424
15 BT 200 167 172 339 [L A HERT 354 337 404 741 | L [my 1,296 1,355 1,357 2, 712| 7 HET 204 228 244 472
JEHT 154 152 144 296 | 5T 779 743 774 1,517| FE-REHET 1,904 1,981 2,073  4,054| FiEHT 438 485 513 998
AT 392 345 390 735| FHBpIT 1,526 1,840 1,822  3,662| &y 851 848 946 1, 794|t BHT 344 430 425 855
R T 17 15 18 33| T2y 1,811 1,958 1,967 3, 925[dLALRET 475 427 507 934 | PG RETHT 422 496 460 956
A AERT 1,572 1,538 1, 650 3, 188| T HJET 1, 152 1,203 1,242 2,445 X 4,526 4,611 4,883 9,494 |/\IFJEMT 403 455 500 955
% FH T 160 149 155 304 B PIIT 401 426 435 861 )| 11X 2,271 2,653 2,731 5,384
ey 139 120 151 271 JEAT—TH 592 593 600 1, 193 |y 522 571 589 1, 160
M 165 137 155 292 (P EET T H 1,321 1,142 1,353 2,495|45HuHT 482 568 581 1, 149| BPaRT =/ £ 435 458 438 896
=S 199 176 213 389|HEIT =T H 616 630 668 1, 298 [ AL Iy 181 204 216 420 | B DAIMTHE 379 394 379 773
ARHT 152 108 148 256 | HPEETIY T H 696 647 708 1, 355|717 /T 146 163 185 348| AR KV 186 185 183 368
JEATEMT 104 75 52 127 BEEmT 1,021 1,012 1,036  2,048|8%)I1MT 1,228 1,331 1,402 2, T33| ATHINT oK 110 119 126 245
I\ T 349 358 403 761 1 HZ T 643 612 539 1, 151 |FEHTHHT 392 435 490 925 | & PAIMT) 1176 303 290 318 608
Ly 218 174 204 378| X 17,311 17,476 18,015 35,491 |%&[HE]MT 438 488 479 967| ADHHLX 1,413 1,446 1,444 2,890
L1 FH T 103 88 92 180 Py 281 342 341 683
L] 90 72 85 157 | b/ Jgsmy 802 840 910 1,750| REFHIX 3,670 4,102 4,283 8, 385|FEARMT PEIA R 724 785 841 1, 626
PU 7 T 31 31 30 61| b/Nmy 482 555 586 1,141 FEYBHT 4 B 89 95 104 199
FHEWT 35 30 32 62| LAt AE T 2,987 2,852 2, 692 5, 544 | L KA 1,315 1, 366 1, 402 2, T68 | FEHBMT v .2 IR 256 162 151 313
FEELHT 95 85 73 158| /1 J5HT 2,309 2,184 2,183 4, 367|fE KIEMT 308 365 356 721 (FEGRHT I 1,080 1,249 1,262] 2,511
puikiaig 287 287 315 602| T /NIy 1,537 1,504 1,523 3, 027 | SRiRFIT 726 885 914 1, 799 | FEHRIT BLHA = 445 479 505 984
FERAHT 325 283 294 577 | HLARAT 1,447 1,348 1,442 2,790 FAJHEHT 458 501 531 1, 032 [ FE4RHT |2 1,504 1,654] 1,688 3,342
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FEYRHT T 850 910 983 1, 893| EHMT /M 150 181 187 368
FEGIT 5 ] 346 416 421 837| &AM AL 252 277 275 552
FEYBHT 207 223 203 426| & HMT AR 533 643 632 1,275
ST (L 163 184 201 385 | HATH ] 312 338 350 688
FEYBHT )1 424 449 477 926 | & H-MTH 633 724 706 1,430
JEYmY rp R 5 4 4 8| & H-MT K 440 519 518/ 1,037
FEYBHTFI AR 1,060 1,323 1,311 2, 634|385 HHr %] 97 114 112 226
SERMT A 5 1,918 2,054 2,200 4, 254|EFH0TE 30 38 36 74
FEHRHh X 9,071 9,987 10,351| 20, 338| MR 304 352 354 706
EHITH 221 159 216 375
FoaL 3,918 4,455 4,634 9,089 fHTHA 36 38 40 78
J2qmy 1,746 1,939 2,015 3, 954 | EH MR 10 10 12 22
Gl 614 787 827 1,614|EHHAHNLILE 374 442 423 865
By 200 230 238 468 | F FEITERIR 52 63 59 122
Finr 0 HT 324 348 344 692 | 75 HHT £ 4 154 168 170 338
# KT 154 176 182 358 |5 HHHT B 157 182 189 371
B [RIHT 70 86 94 180 & HMT /N H 369 430 418 848
S 5y Iy 312 449 430 879 | & M7 AR 17 148 135 283
VG E Sy HT 251 315 311 626 | & HHITAE I 192 214 202 416
Aesimy 455 457 438 895 | & MY/ NEE 222 253 254 507
T T 3,658 4,108 4,184  8,292| HHTEE E 580 665 641 1, 306
EAMT 1,833 2,128 2,233 4,361 5 H0TEA T H 343 370 350 720
= SRHT 862  1,015| 1,066  2,081|&EHHETRME T H 404 398 465 863
rf R IRT 1,600 1,672 1,678 3,350 EATEERE A =T H 307 394 386 780
e T 1,438 1,468 1,561 3, 02975 HHT 363 366 399 765
o1 BT 500 593 624 1, 217|EHENT R B 104 120 119 239
PRI T 655 796 794| 1,590 HMT_EBSE 124 155 133 288
JEHmy 587 644 699 1, 343| &M 1 52 58 65 123
TR ES Mt [X. 19,177, 21,666 22,352| 44,018| & HHIX 10,282 11,361 11,518 22,879
iy 5,685 5,649 6,023 11,672
T H X 5,685 5,649 6,023 11,672
FEE HAET 1,064 1,145 1,176 2,321
rhEE T 840 711 817 1,528
s mny 463 492 481 973
e LT 37 25 38 63
B4y 33 25 33 58
R EHT 409 532 5320 1,064
T HLRET 1,033 1,104 1,179 2,283
o BT 762 846 869 1,715
RHL BT 998 1,063 1,099 2,162
ARYBHT 913, 1,045 1,045 2,090
e mT 713 783 807 1,590
SEST 179 215 177 392
+-3eEemy 178 187 200 387
ERET 326 370 357 727
= R 101 100 99 199
AT 119 126 128 254
A X 8,168 8,769 9,037 17,806
BRI 672 694 711 1,405
EFHMTE H 1,221 1,242| 1,291 2,533
FHHATFRAR 348 359 366 725
E T RAR 1,109 1,247| 1,304 2,551 WA F 173,217 179,689 186,283 365,972




